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qle, O vw-wfifudarq*Oqi*t r

Nole : There are THREE sections in lhe paper A, B and C
(ii) Crrevf vtc#r t *afin qnt*lv{Afus tvd7trnqqaio il'leF

efin qnaqgsrqr*val*{ r

Answer all the I0 parts of the question No, I in Section A. Each parl carries
one mark and all I0 Parts have obiective type queslions-

6iil effiO+s v?itdffia vtsl*lf,(ilfrs tvdrvfls sioottsq
fl$t s ?tta / so Wl I nr dfuq r
Answer any 6 queslions out of the E questions in Section B. Each question

carries 3 msrks and to be answered wilhin 5 lincs / 50 twrds.

(iv) dmp?*o wnttffit va}*'vat flfrq rYd$vfls 3rs fld(q
Eqa ts atfr. / tso wllsfiilfrq r

Answer any 1 questions out of the 6 questions in Scction C' Each queslion

carries I marks and to be answered within 15 lina / 150 words'

(v) v+6 tlaa + a*vrl *l mstr sr a72r ad A&q t
Solve all the questions ofa section consecutively together.

(vi) qH qlcri3tl i ara dl+ I Rtfr I sind 3gER A qrq e t

Only English version is valid in case of diference in both the languages'

tm-c
Scction - A

l. (i) qqfrifll?nff{t I
(a) sqft=<IPrd+t$ (b) vxft=srfud-tS
i.; qqft =qrfo€ +enfiqqft (d) qHft =qlkdE-sr6qqfd
What do You mean bY Assets ?

(a) Assets = Liabilities + CaPital
(b) Assets = Liabilities - CaPital

(c) Assets=Liabilities+Fixed Assets

(d) Asscts=Liabilitics― Fixed Asscts

(1()14)
Pl()
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Which ofthe fonowing iS a ixed asset?

①熱靴 論機R鑽輿鱗I繭 ?

(iD ffiafuatnda*enfisqftt i
(a) *csrm
(c) ttrq

(a) WTq GIrdI

(c) fu*qErdl

(a) ■可 u:ol

(c)れ 、 u:o:

(a) YFlFri[Sw6
(c) {6rffi5{T{

(a) fufiq{E
(c) mq(6

(a) {rqRqt-CTa
(c) aEn-eg*

(b) t{fi
(d) ftfu'l

(b) t+gqrdl
(d) (Sunt

(b) Hlo uidl

(d)]釈 ulol

MSk-6
srn-n{n+tiTd

(b) n-6E{e
(d) T+dfrct

0)a爾 諭舗暉哺

“

)誦 覇 1諭Ⅲ 囀

A sale of goods to Shyam for cash, which account should be debited ?

(a)  Shyam A/c (b) CaSh A/c

(C) Sales A/c             (d) Capital A/c
(iV)KIIIれ Чit Hlu Uに マ 5,000ハ 薦 爺 論 論 記 載 ヽ ?

ｂ

　

ｄ

Q∞Q曇鰈 鴇?

Purchase old car from Ram ofマ 50,000 on credit entered in which book?

ぃぅ軋 徊 囀 輸 鏑 き郡
誡 肌
"r

m曇謂 忘 ¨
樹襟輿m思織:k

t qJ14:蠣 loiさ ?

(a) *+vraEoi (b)漁 頭金含
0希 Ⅷ F鍮 漱 哺 さ 

“

)赫 台含薇 ■
Batt Reconciliation Statement is prcpared宙 th the help of

(a) Bank Pass Bα )k 0) CaSh B00k
(c) Bank Pass Book & Cash Book (d) None ofthe above
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(X)
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duЧιttF釦 飾 さ
of珊 Ⅷ u‖ Hl
(b)甲薦 ¬が中 哺響肝q"Hl

O型 編 甜 論xFI刺
(d)麒聞諭 謙釧商 論輸 命論
Thc main purposc ofthe Trial Balance is to

(a) Locate Error

(b)List ofAssets&Liabilides

“れ紺紺謎器鎖檻浩ぜ黒器:ち
f゙ttrr
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(a)mm

tcl t弼囀

(a) Balance Sh∝ t

(C)CaSh B00k

訥昭 ―奇

Section― B
謙爺覇きオ剌 哉調蒻Ⅲ)l

Explain two ouect市es of Accounting.

_,裁 哺 i?
What do mean by Drawings?

可ht釧師F引l― t?
What do you mean by Journal?

嗣
'蔵

1硬金き?
whatis Ledger?

劇で:“や誦ゴ諭Jr― 可命まnt?
Why we need subSidiay books?

命瞬可爾at甫 1猥貞さ?
Whatis Sales BoOk?

さ弔軍可0'論て硬壼さ?
WhatiS Cash Book?

。ぃЧこ舗 爺 さ?

What is TFial Balance?

The Balance which appear in the Trial Balance are exracted from the

(b) qrdlro
(d) s6trsc-6

o)Ledger
(d) SubSidiary Book (lXll))

(3)

つ
Ｄ

4

(3)

(3)

(3)

(3)

(3)

(3)

(3)

P.T.().
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trg-S
Scction - C

lo. +qisq+ fra;aer i t tqifi *frr<ral +l rre srcr{i t

What is Accounting Principles ? Explain the importance of Accounting Principles. (E)

rr. q{-e*ftqqant t<rtrolskdscsrd t

What arc the nrles of Jounr,al ? Explain with examples. (8)

r2. qd-aicfrEcfo{:
Enter the transaction in Joumal :

(i) rrcl ? lo,oooilIrfiqrnrrqfrfl t

Ram started business with cash ? 10,000.

titl nqit+frqrmder ut I e,ooovmureri I

Ram opened a bank account and deposit ( 9,000.

(iii) tfri? S,0Oo6.IrIlFI3tIREtEI I

Goods purchased from Hari of ? 8,000 on credit.

(iv) tGfoff2,0oo r

Casli Sales t 2,000.
(v) rrTFIb) ? 5,o0os'r3tlRcrf,+sI

Goods sold to Shyam of? 5,000 on credit. (E)

13. qrdF{E {qdt$fi}ff fqfu scfl{n t

Explain the method of Posting in Ledger. (8)

14. dg+E<Efteftel tw*qlvlcc-dr{t t

what is Petty Cash Book.? Explain its two advantageVbenefis. G)

rs. raqdr{Afrdq-Bt$frfocli isrfl{i t

What are the methods of preparing the Trial Balancc ? Explain. (8)

雌


